Imaginative Curriculum designs in Key Stage 3 history

Conceptual Building Blocks: Rationale

This curriculum model is designed in a very traditional manner. The idea behind this design is very simple. It is shaped around the main second order historical skills. The new questions build on skills that have been introduced in a previous enquiry. Older skills are consolidated whilst new and more difficult skills are introduced over the course of three years. The re-visiting of older skills is as important as the introduction of progressively more challenging ideas. By re-practicing the methodology, the main historical skills are more likely to become concrete rather than abstract ideas in the pupils’ minds. The introduction of more difficult concepts ensures that the pupils’ historical understanding becomes increasingly sophisticated over time.
When introducing more complex ideas, teachers should be encouraged to remind the pupils of the skills they have used in previous enquiries, “Do you remember when we looked at William’s victory at Hastings? You sorted the reasons under big and little points. Well today we are going to do the same thing, but this time you have got to find the big points yourselves..”
Obviously each enquiry does not alternate between cause, change, consequence, historical enquiry and interpretations in a logically ordered way. This is because certain topics lend themselves to the study of certain second order concepts more. In any case, history is not that neat. Many of the enquiries also focus on ideas / beliefs / attitudes. If pupils are going to understand a time period and why people behaved as they did, they will need to understand peoples’ beliefs. 
There is quite a lot of work in year 7 on historical enquiry. If we want pupils to understand how historians work they need to develop their skills or source handling early on. The skills of interpretations are purposely quite scarce in the early stages of this model. It then becomes an increasing focus. This is because it is a difficult concept for younger pupils to understand and the building blocks have to be laid before they can tackle the area in a meaningful way.
This curriculum design can be interwoven with the models of progression produced previously. This would provide departments with clear reasoning for their entire Key Stage 3 course to outside agencies such as OFSTED. If linked to the Hants assessment models it would give an alternative rationale for assessment in history.
Conceptual building blocks
	Year 7
	Year 8
	Year 9

	How do we find out about Medieval Peasants?1 (enquiry)

Why did William win the Battle of Hastings?2  (causation)

Why could no one ignore the Church in the Middle Ages?3 (ideas/beliefs/attitudes)
How do we solve the mystery of Thomas Becket’s murder?4 (enquiry)

Was King John Really a terrible King?5
(enquiry and change)

Was the Black Death a total disaster for the peasants?6  (consequences)

Why did the Peasants Revolt?7 (causation and enquiry)
Why did some people think Martin Luther danced to the Devils tune?8
(Enquiry  and ideas/beliefs/attitudes)
A West Country mystery: Why was Richard Whiting killed?9
(Causation and ideas/beliefs/attitudes)

Were the Catholics framed in 1605?10
(Enquiry, interpretations and ideas/beliefs/attitudes)

 What really happened at Charles I’s execution?11 (Enquiry)

Which Monarch had most power between 1660-circa 1750?12 (Change)

Did the Great Fire actually end the Plague?13 (Enquiry)

	What had gone so badly wrong to cause the French Revolution in 1789?14
(Causation and ideas/beliefs/attitudes)
Was it inevitable that Louis XVI would be executed?15 (Change, causation)
How accurate is David’s Marat?16
(Enquiry Interpretation)

Was Robespierre the Butcher of the Revolution?17 (interpretations)
What caused the Industrial Revolution?18(Causation)
Richard Arkwright: Spin doctor or King Cotton?19 (interpretations)

What horrors lay behind the slave trade? 20(enquiry)

Why do historians disagree about the causes of the Opium wars?21 (Interpretations, causation and ideas/beliefs/attitudes)

Why is it so difficult to find out what children’s working conditions were really like in the 19th Century?22 

(enquiry)

Why was the Public Health Act introduced in 1875 and not before?23 (causation)

	How did women change the way they campaigned for the vote between 1860 -1914?24 (Change and ideas/beliefs/attitudes)

Why did women get the vote in 1918?25 (Consequences)

Why did World War happen?26 (causation)

Does the film, ‘The Battle of the Somme’ give us a realistic view of what it was like to be a soldier in the trenches?27 (Enquiry)

Why was Russia so divided 1917-21?28
(interpretations and ideas/beliefs/attitudes)

Why do historians disagree about the causes of the Second World War?29 (interpretations and causation)

Dunkirk30
(interpretations and enquiry)

Had the Nazis always planned the Holocaust?31 (Change and ideas/beliefs/attitudes)

Hated or Adored? How can the Russians and the West have such different views of Gorbachev?32
(interpretations and ideas/beliefs/attitudes)




How do we find out about Medieval Peasants?1 (enquiry)

The pupils piece together a picture of peasants’ lives by making inferences from skeletons, arial photographs, artists’ reconstructions, the Luttrel Psalter and Manor court records. This gives them an introduction into how historians work.

Why did William win the Battle of Hastings?2  (causation)
This question is self explanatory.
Why could no one ignore the church in the Middle Ages?3( ideas/beliefs/attitudes)
Pupils make a game that teachers them about the influence of the church on ordinary peoples’ lives.
How do we solve the mystery of Thomas Becket’s murder?4 (enquiry)

The idea here is to introduce the notion of selecting information from written sources. The pupils should look at the work of Edward Grimm and Ralph Diceto and spot clues in the language that suggests Becket was stubborn, determined, brave…
Was King John Really a terrible King?5
(enquiry and interpretations)

This depth study is based on Dale Banham’s work, ‘Was John Really a bad King?’ It introduces pupils to evaluating evidence and considering why certain sources were created.
Was the Black Death a total disaster for the peasants?6  (Consequences)

This enquiry helps pupils see that consequences can be good and bad.
Why did the Peasants Revolt?7 (Causation and enquiry)

The pupils look at the causes of the PR. The idea of LT ST is introduced in a card sort activity. The pupils are then introduced the notion of linking reasons together to explain why the peasants revolted. They then look at the events surrounded the murder of Tyler. Here they learn to cross-reference written accounts for the first time.
Why did some people think Martin Luther danced to the Devils tune?8 (Enquiry and ideas/beliefs/attitudes)

This enquiry makes the pupils look at a political cartoon for the first time. They work out the message of the image by using contextual knowledge and see the limitations of the caption written in a school textbook. The ideas / beliefs of the Reformation are introduced.
A West Country mystery: Why was Richard Whiting killed?9
(Causation and ideas/beliefs/attitudes)

This enquiry shows how the execution of an Abbot in Glastonbury helps us understand the causes of the English Reformation. By looking at the story of one Abbey in the dissolution of the monasteries the pupils learn about a much bigger story. It builds on their understanding of religious beliefs planted in the previous enquiry. The final task re-visits link making between casual factors. 
Were the Catholics framed in 1605?10 (Enquiry and ideas/beliefs/attitudes)
Here the pupils learn the need to look at more than one textbook if they are going to try to find out if the Catholics were framed or not. This helps consolidate the idea of cross-referencing. It also consolidates the previous understanding of the ideas of the Reformation.
What really happened at Charles I’s execution?11 (Enquiry)

This lesson, available as a deluxe lesson from the History centre, builds further on the need to cross-reference to find out what happened at a particular event.
Which Monarch had most power between 1660-circa 1750?12 (Change)

This activity ends with a balloon debate to see which monarch had the most control after Cromwell. With careful questioning after the debate activity, the pupils can see how the power of the monarch was reduced in the 18th century. Plotting this decline on a power graph will make this notion clearer in the pupils’ minds.

Did the Great Fire actually end the Plague?13 (Enquiry)
This activity again revisits the important skill of cross-referencing. This time the pupils are forced to apply this skill on their own by testing a hypothesis. They look at two maps and a graph. This activity also enables them to see the limitations of the evidence.

What had gone so badly wrong to cause the French Revolution in 1789?14
(Causation and ideas/beliefs/attitudes)

This enquiry builds on earlier causation work. The pupils investigate the different reasons that led to the revolution; they classify the reasons into different groups and make links. They are then asked to consider the relative importance of the different reasons. This enquiry introduces the logical ideas of the enlightenment.
Was it inevitable that Louis XVI would be executed?15 (Change, causation)

The pupils start by looking at two paintings of the royal family. The paintings show how attitudes towards the royals changed between 1775 and 1792. They are then asked if it was inevitable that Louis would be executed in 1789 – this introduces the notion of inevitability. They place event cards on a living graph and decide at which point they think it was that the French decided to kill their King.

How accurate is David’s Marat?16 (Enquiry Interpretation)

By analyzing the message of David’s Marat and making inferences the pupils work out the interpretation the artist wanted to give of the journalist. They then, yet again cross-reference different sources to see if it agrees with David’s interpretation.

Was Robespierre the Butcher of the Revolution?17 (interpretations)

The starting point for this activity is the plaque in Arras on Robespierre’s house.

The pupils then sort cards that show that Robespierre can be seen as ‘the butcher of the Revolution’ and ‘the defender of the Revolution’. The end task is to re-write the plaques positive interpretation and make it more balanced. This re-visits the idea from the King John enquiry that people have different interpretation of individual.

What caused the Industrial Revolution?18 (Causation)

Here the pupils re-use their sorting skills. They look at different cards. The progression here is that they have to come up with the Factors that helped to cause the Industrial Revolution themselves.

Richard Arkwright: Spin doctor or King Cotton?19 (interpretations)

This deluxe lesson builds on the interpretations work from the Robespierre enquiry.  Pupils learn that Arkwright has been remembered favorably as the father of factories, maybe unfairly. They are also re acquainted with the idea of relative importance of reasons / evidence.
What horrors lay behind the slave trade?20 (Enquiry)

By learning about the different legs of the slave trade triangle, the pupils are asked to find out how useful a visual source is in explaining the horrors behind the slave trade. This consolidates and builds on the work first embedded in the Martin Luther enquiry. They see that the one source is not nearly enough to explain who was involved in the trade. They see the value in contextual knowledge.
Why do historians disagree about the causes of the Opium wars?21 (Interpretations and causation)

Here the pupils move away from looking at interpretations of individuals. They are now introduced to the idea that historians can have different interpretations about the past. They look at the events leading up to the Opium Wars and are asked to work out why historians disagree. They are also asked to decide which historian they agree with more. The enquiry helps pupils see that a lack of respect of differing beliefs helps cause a war. 
Why is it so difficult to find out what children’s working conditions were really like in the 19th Century?22
(enquiry)

This builds on the valuable source work undertaken so far. The pupils learn that much of the evidence we have about children’s 19th century factory reform is unreliable. They look at evidence produced by Factory owners and Factory Reformers. They don’t just look to see how the sources are unreliable. They also consider why the evidence is unreliable. This consolidates and builds on the ideas introduced in the King John enquiry.
Why was the Public Health Act introduced in 1875 and not before?23 (Causation change)

This enquiry looks at the 19th century argument about Public Health.  It introduces the notion of turning points and re-visits the idea of the relative importance of different causal factors. It also shows pupils how attitudes changed overtime. By understanding the importance of the 1867 reform act the pupils can understand why, to a certain extent the Government was forced to agree to the 1875 Public Health Act.
How did women change the way they campaigned for the vote between 1860 -1914?24 (Change and ideas/beliefs/attitudes)

Pupils match photographs to captions; they spot trends overtime by sorting the photos into chronological order and then look at a timeline of political events to understand why the suffragette campaign became violent (after the Liberals twice refused to pass the necessary legislation).  This activity re-visits the idea of turning points established in the Public Health enquiry. The enquiry helps pupils understand19th century attitudes to women.
Why did women get the vote in 1918?25 

This activity involves a card sort of the different reasons behind women getting the vote. They look at two interpretations and decide for themselves the most important reasons why the law was changed in 1918. This consolidates the idea of importance and lays the foundations to help the pupils understand how interpretations differ (WW2 enquiry) 

Why did World War One happen?26 (Causation)

The starting point for this activity is the Archduke’s murder. The pupils then make cards that help explain what had caused the war. They have to go back over 50 years to get all the reasons. The skills used here are sorting causes in different ways, understanding the relative importance of certain reasons and looking for triggers. Progression is shown in the number of the causes analysed and in the increasing difficulty of the first order concepts studied: Nationalism, Imperialism…
Does the film, ‘The Battle of the Somme’ give us a realistic view of what it was like to be a soldier in the trenches?27 (Enquiry)

This depth study is based on Dale Banham’s work. The pupils look at the interpretation given in the 1916 film. They check it’s accuracy by cross-referencing the film with different evidence including newspapers, poetry, cartoons and diary accounts. They are using all their skills of historical enquiry to discover how realistic the film actually is.

Why was Russia so divided 1917-21?28
(Interpretations and ideas/beliefs/attitudes)

This activity shows the pupils how the Bolsheviks were seen as heroes and villains. They look at different pieces of propaganda and understand how the Communists created an interpretation about the seizure of power and civil war that differed totally from the Whites interpretation of the time period. The pupils learn about the very different belief systems of the Bolsheviks and the ‘Whites’.
Why do historians disagree about the causes of the Second World War?29 (Interpretations and causation)

Here we enter the higher levels of progression in causation. It crosses over into interpretations. After looking at the different reasons that helped to cause the war, the pupils have to look to different historians views of the main causes of the war. This embeds their previous ideas about the relative importance of factors. They see that historians disagree about the relative importance of factors and how this affects their interpretations. To understand this area, pupils have to understand the attitudes of the British appeasers in context of their time.
Why was Dunkirk shown in such different ways?30
(interpretations and enquiry)
This enquiry helps pupils understand how The Germans and the British show the evacuations at Dunkirk in such different ways.
Had the Nazis always planned the Holocaust?31 (Change and ideas/beliefs/attitudes)

This enquiry builds on valuable lessons of the change in Suffragette campaigning. The pupils have to look at a variety of pictorial sources to test a hypothesis. They place the evidence into chronological order and decide when Nazi persecution turned to mass murder. They are again required to spot turning points and trends before deciding which historians view they most agree with. In the build up lesson Pupils understand how attitudes to Jews changed over a two thousand year period. The enquiry helps pupils understand how intolerant beliefs, if left unchecked, have devastating results.
Hated or Adored? How can the Russians and the West have such different views of Gorbachev?32
(Interpretations and ideas/beliefs/attitudes)

The focus of this question is self explanatory. After overviewing 20th century Soviet History, the pupils look at the problems facing Gorbachev in 1985 and the solutions he came up with. They then sort information surrounding Gorbachev’s actions onto two spectrums: 
1. Things that would affect Western interps of him   
2. Things that would affect Soviet peoples’ interps of him. 
This idea is based around the idea that people in different places saw the relative importance of factors very differently. The things that were important to the Soviets eg crime, low wages, gangsters were not important / did not affect people in the West; and things that were important in the West e.g. freedom of speech, free elections etc were not as important to the Soviet people. 
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